
CHEMISTRY

BOOKS - SHARAM PUBLICATION

ELECTROCHEMISTRY

Exercise

1. The quantity of electricity needed to be deposit . Of copper is

A. 

B. 4 coulombs

C. 

D. 1 ampers

Answer:

W t h Vid S l ti

127.08gm

1F

4F

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9eOUhjwfac0M


Watch Video Solution

2. When 9.65 coulomb of electricity is passed through a solution of

(at.wt. 108.0 ) the amount of silver deposited is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AgNO3

16.2mg

21.2mg

10.8mg

6.4mg

3. In galvanic cell

A. anode to cathode through the solution

B. cathode to anode through the solution

https://dl.doubtnut.com/l/_9eOUhjwfac0M
https://dl.doubtnut.com/l/_lWYZqM11NhjP
https://dl.doubtnut.com/l/_lb5gFlODTQQT


C. anode to cathode through the external circuit

D. cathode to anode through the external circuit

Answer:

Watch Video Solution

4. The amount of silver deposited by passing one Faraday of current

through silver nitrate solution is (At mass of )

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Ag = 108

1.08gm

10.8gm

108gm

2 × 108gm

https://dl.doubtnut.com/l/_lb5gFlODTQQT
https://dl.doubtnut.com/l/_EUurJu23mEW3
https://dl.doubtnut.com/l/_DHScvSVrr6Qw


5. Find the number of coulombs required for conversion of one mole of

 to one mole of .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

MnO
−
4 Mn2 +

96500

96500 × 3

96500 × 5

96500 × 7

6. The reduction electrode potential E of

is :

A. 

B. 

C. 

0.1MsolutionofM + ions(Eo(rp) = − 2.36V )

−2.41

+2.41

−4.82

https://dl.doubtnut.com/l/_DHScvSVrr6Qw
https://dl.doubtnut.com/l/_GifNHLHR78Ts


D. none

Answer:

Watch Video Solution

7. The cell  was allowed to be

completely discharged at . The relative concentration of  to 

  is

A. 

B. 

C. Antilog (24.08)

D. 

Answer:

Watch Video Solution

Zn∣∣Zn
2 + (1M)∣∣

∣
∣
∣

C
u

1M

2

+
∣
∣
∣
Cu(E ∘ = 1.10v)

298k Zn2 +

Cu2 + Zn2 +

Cu2 +

1037.3

9.65 × 104

37.3

https://dl.doubtnut.com/l/_GifNHLHR78Ts
https://dl.doubtnut.com/l/_3PEEIDgBKHcE
https://dl.doubtnut.com/l/_iVPYe9qxKCjy


8. Consider the following values, 

 under standard

conditions the potentials for the reaction

 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

E ∘

E ∘Fe+ 3∣∣Fe
2 + = 0.77v, E ∘Sn2 + ∣∣Sn = − 0.142

Sn(s) + 2Fe3 + → 2Fe2 + + Sn2 +

1.68v

1.40v

0.91v

0.63v

9. For the redox reaction :

 taking place in a cell 

cell = 1.10 volt` , E for the cell will be (2.303 RT/ F) 0.0591

A. 

Zns + Cu2 + (0.14) → Zn2 + (1m) + Cu(s) E ∘

2.14v

https://dl.doubtnut.com/l/_iVPYe9qxKCjy
https://dl.doubtnut.com/l/_GjuL3CJayLgo


B. 

C. 

D. 

Answer:

Watch Video Solution

1.80v

1.07v

0.82v

10. Emf of a cell in terms of reduction potential of its left and right hand

electrodes is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

E = ELeft − Eright

ELeft + Eright

E = Eright − ELeft

E = − (Eright + ELeft)

https://dl.doubtnut.com/l/_GjuL3CJayLgo
https://dl.doubtnut.com/l/_vRlbXVyssZTv


11. Two electrochemical cells are and 

 are connected in series. What will be the emf of the

cell at . Given 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Zn∣∣Zn
2 + ∣∣∣∣Cu

2 + ∣∣Cu

Fe∣∣Fe
2 + ∣∣∣∣Cu

2∣∣Cu

25∘C

E ∘Zn2 + ∣∣Zn = − 0.76vE ∘Cu2 + ∣∣Cu = + 0.34v and Fe2 ∣ Fe = − 0.

1.85v

−1.85v

+0.83

−0.83

12. Which of the following is correct ?

A. ΔG∘ = − nFE ∘ ceLL

https://dl.doubtnut.com/l/_vRlbXVyssZTv
https://dl.doubtnut.com/l/_7YyQX1vWnjAp
https://dl.doubtnut.com/l/_btqjqK3HrwG4


B. 

C. 

D. 

Answer:

Watch Video Solution

ΔG∘ = + nFE ∘ ceLL

ΔG∘ = − RT2.303nFE ∘ cell

ΔG∘ = − nF logE ∘ cellK ∘
C

13. The equivalent conductances of two strong electrolytes at infinite

dilutions in  (where ions move freely through a solution ) at 

are given below. 

. What additional information / quantity one

needs to calculate  of an aqueous solution of acetic acid ?

A. limiting equivalent conductance of 

B.  of chloro acetic acid (ClCH_2 COOH)

C. 

D. .

H2O 25∘C

∧∘ CH3COONa = 91.05cm2 ∣ gm ≡

∧∘ HCl = 426.25c f ≡
m2

o

Λ ∘

H + (λ ∘ _ H + )

∧∘

∧∘ ofNaCl

∧∘ ofCH3COOK

https://dl.doubtnut.com/l/_btqjqK3HrwG4
https://dl.doubtnut.com/l/_QQQPdSOcX2At


Answer:

Watch Video Solution

14.  equiv.,

 equiv. .

What is the value of  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

λCH3COONa = 224ohm− 1c m
m2

g

λNaCl = 38.2ohm− 1c m
m2

g
λHCl = 203ohm− 1c m ≡

m2

g

λCH3COOH

288.5

289.5

388.5

59.5

15. For a spontaneous reaction of a cell, which is the correct ?

https://dl.doubtnut.com/l/_QQQPdSOcX2At
https://dl.doubtnut.com/l/_oyN1RJR3SsQC
https://dl.doubtnut.com/l/_EBOPtfzhRk3K


A. , 

B. , 

C. , 

D. , 

Answer:

Watch Video Solution

ΔG = 0 ΔE = 0

ΔG = − ve ΔE = 0

ΔG = + ve ΔE = + ve

ΔG = − ve ΔE = + ve

16. The standard emf of the cell reaction

 is 0.36 volt at .The equilibrium

constant for the reaction is :

A. 

B. 

C. 

D. 

2Cu+ (aq) → Cu(s) + Cu+ 2(aq) 298k

5 × 106

1.4 × 106

1.4 × 102

1.29

https://dl.doubtnut.com/l/_EBOPtfzhRk3K
https://dl.doubtnut.com/l/_MJQzJRDzIYCy


Answer:

Watch Video Solution

17. The specific conductivity of  solution is .

The resistance of the solution in the cell is . The cell constant of

the cell is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0.1NkCl 0.0129ohm− 1cm− 1

100ohm

1.29 × 10− 3

1.29 × 10− 4

0.0129

1.29

https://dl.doubtnut.com/l/_MJQzJRDzIYCy
https://dl.doubtnut.com/l/_R6t62UC68wJ3


18. The standard emf of the cell  if electrode

potentials for  are 0.763 and -0.44 `

respectively is …………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Zn∣∣Zn
2 + ∣∣∣∣Fe

2 + ∣∣Fe

Zn∣∣Zn
2 + and Fe2 + ∣∣Fe

+0.323

−1.203

1.203

−0.323v

19. The number of electrons required to deposit 1 gram atom of

aluminium (at wt = 27) from a solution of  will be ?

A. 

B. 

AlCl3

10N

5N

https://dl.doubtnut.com/l/_pt0fSXxdvuQO
https://dl.doubtnut.com/l/_49Xrms0io3NF


C. 

D. 

Answer:

Watch Video Solution

3N

6N

20. The equilibrium constant for the reaction

 at 298 k is
 Given

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Cus + 2Ag+ _ (aq) → Cu2 +aq + 2Ag

E ∘ cell = 0.46v

2.0 × 1010

4 × 1010

4 × 1015

2.4 × 1010

https://dl.doubtnut.com/l/_49Xrms0io3NF
https://dl.doubtnut.com/l/_G49xzTLWGaCS


21. The unit of specific conductivity is

A. 

B. 

C. coulomb

D. 

Answer:

Watch Video Solution

ohm

ohm− 1cm− 1

Faraday

22. Equivalent conductances of NaCl , HCl and  at infinite

dilution are 126.45, 426.16 and 91  respectively.

The equivalent conductance of  is

A. 

B. 

C2H5COONa

ohm− 1cm2(gramequi) − 1

C2H5COOH

201.28

390.71

https://dl.doubtnut.com/l/_G49xzTLWGaCS
https://dl.doubtnut.com/l/_Kqjt4MT87xeY
https://dl.doubtnut.com/l/_CfxveY4Q4Krl


C. 

D. 

Answer:

Watch Video Solution

698.28

540.48

23. The standard reduction potentials of /Cu and /  are

0.337 and 0.153 V respectively.The standard electrode potential of /

 half cell is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Cu2 + Cu2 + Cu+

Cu+

Cu

0.184v

0.827v

0.521v

0.490v

https://dl.doubtnut.com/l/_CfxveY4Q4Krl
https://dl.doubtnut.com/l/_mCbi6nf3tSjB


24.   = 0.44 whereas  Then

A.  oxide 

B.  oxidises Fe

C.  reduces 

D.  reduces 

Answer:

Watch Video Solution

E ∘ Fe/Fe2 + E ∘Cu/Cu2 + = − 0.32v

Cu Fe2 + ion

Cu2 +

Cu Fe2 +

Cu2 + Fe

25. The charge required for the reduction of 1 mol to  is

A. 

B. 

C. 

D. 

MnO
−
4 MnO2

IF

3F

5F

6F

https://dl.doubtnut.com/l/_mCbi6nf3tSjB
https://dl.doubtnut.com/l/_xqPrbGctuUXE
https://dl.doubtnut.com/l/_E9Cq2vHTYtLA


Answer:

Watch Video Solution

26. Which one of the following is not the function of a salt bridge ?

A. To allow the flow of cations from one solution to the other

B. To allow the flow of anions from one solution to the other

C. To allow the flow of electrons from one solution to the other.

D. To maintain electrical neutrality of the two solutions.

Answer:

Watch Video Solution

27. The equivalent conductance of  solution of a weak monobasic

acid is  and at infinite dilution is . The

dissociation constant of the acid is

M /32

8.0mhoscm2 400mhoscm2

https://dl.doubtnut.com/l/_E9Cq2vHTYtLA
https://dl.doubtnut.com/l/_lT7SalarEnDp
https://dl.doubtnut.com/l/_4qu9LHORmhFj


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1.25 × 10− 6

6.25 × 10− 4

1.25 × 10− 4

1.25 × 10− 5

28. Which of the following electrolytic solutions has the least specific

conductance ?

A. 

B. 

C. 

D. 

Answer:

0.02N

0.2N

2N

0.002N

https://dl.doubtnut.com/l/_4qu9LHORmhFj
https://dl.doubtnut.com/l/_n9pS206x29bC


Watch Video Solution

29. Which one of the following solutions will have highest conductivity ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0.1MCH3COOH

0.1MNaCl

0.1MKNO3

0.1MHCl

30. The limiting molar conductivities  for  ,  and  are

126, 152 and 150  respectively. The for  is

A. 

B. 

∧∘ NaCl KBr KCl

Scm2mol− 1 NaBr

128Scm2mol− 1

176Scm2mol− 1

https://dl.doubtnut.com/l/_n9pS206x29bC
https://dl.doubtnut.com/l/_1FOu90eepVEs
https://dl.doubtnut.com/l/_gXbfNeFcOHEr


C. 

D. 

Answer:

Watch Video Solution

278Scm2mol− 1

302Scm2mol− 1

31.  of electric current is passed through fused an hydrous 

.The magnesium metal thus obtained is completely converted into a

Grignard reagent. The number of moles of Grignard reagent obtained is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9.65C MgCl2

5 × 10− 4

1 × 10− 4

5 × 10− 5

1 × 10− 5

https://dl.doubtnut.com/l/_gXbfNeFcOHEr
https://dl.doubtnut.com/l/_9PO5342WG3C5


32. What will be the pH of aqueous solution of electrolyte in the

electrolytic cell during electrolysis of  solution between graphite

electrodes ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CuSO4

pH = 14.0

pH > 7.0

pH < 7.0

pH = 7.0

33. A silver cup is plated with silver by passing  of electricity. The

amount of  deposited is

A. 

965C

Ag

1007.89g

https://dl.doubtnut.com/l/_9PO5342WG3C5
https://dl.doubtnut.com/l/_i2fRRHq8mni9
https://dl.doubtnut.com/l/_mXI5xtbztHfh


B. 

C. 

D. 

Answer:

Watch Video Solution

9.589g

1.1002g

1.08g

34. During the electrolysis of molten  solution, 230 g of sodium

metal is deposited on the cathode, than how many moles of chloride will

be obtained at anode ?

A. 

B. 

C. 

D. 

Answer:

NaCl

10.0

5.0

35.5

17.0

https://dl.doubtnut.com/l/_mXI5xtbztHfh
https://dl.doubtnut.com/l/_aDHjHpM707w3


Watch Video Solution

35. In the electrolysis of acidulated water, it is desired to obtain 1.12 CC of

hydrogen per second STP condition. The current to be passed is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1.93A

9.65A

19.3A

0.965A

36. Electrolysis of dilute aqueous NaCl solution was carried out by

passing 10mA current. The time required to liberate 0.01 mole of  gas

at the cathode is ( 1F = 96500 C  )

H2

mol − 1

https://dl.doubtnut.com/l/_aDHjHpM707w3
https://dl.doubtnut.com/l/_Da2yfvfjzntQ
https://dl.doubtnut.com/l/_VZl9thbJjHGe


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9.65 × 104s

19.3 × 104s

28.95 × 104s

38.6 × 104s

37. The charge for the reduction of 1 mole of  ions to  is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Cr2O
2 −
7 Cr3 +

96500C

2 × 96500C

3 × 96500C

6 × 96500C

https://dl.doubtnut.com/l/_VZl9thbJjHGe
https://dl.doubtnut.com/l/_SgTeowAxqyDv


38. The standard e.m.f of a cell involving one electron change is found to

be at .The equilibrium constant of the reaction is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0.591V 25∘C

1.0 × 101

1.0 × 105

1.0 × 1010

1.0 × 1030

39.  values of  is -2.37V, of  is -0.76V and 

 is -0.44V. 


Which of the following statement is correct ?

A.  will reduce 

E ∘ Mg2 + /Mg Zn2 + /Zn

Fe2 + /Fe

Zn Fe+ +

https://dl.doubtnut.com/l/_SgTeowAxqyDv
https://dl.doubtnut.com/l/_tZ8k3F44b6ue
https://dl.doubtnut.com/l/_5mhoycn0KpWE


B.  will reduce 

C.  oxidises 

D.  oxidises .

Answer:

Watch Video Solution

Zn Mg+ +

Mg Fe

Zn Fe

40. , . The

value of standard electrode potential for the charge 

will be

A. 

B. 

C. 

D. 

Answer:

E ∘Fe3 + /Fe = − 0.036V E ∘Fe2 + /Fe = − 0.439V

Fe
3 +
+
aq

e → Fe2 +
aq

−0.072V

0.385V

0.770V

−0.270V

https://dl.doubtnut.com/l/_5mhoycn0KpWE
https://dl.doubtnut.com/l/_PQXI5snBCh6z


Watch Video Solution

41. What flows in the internal circuit of a galvanic cell ?

A. ions

B. electrons

C. electricity

D. atoms

Answer:

Watch Video Solution

42. , , 

// .The oxidation potentials

are given above, which is the best reducing agent ?

Watch Video Solution

Cu+ /Cu2 + , (0.15) Fe2 + /Fe3 + , ( − 0.77)

Hg+ /Hg+ 2( − 0.92), 2Br− Br2( − 1.07)

https://dl.doubtnut.com/l/_PQXI5snBCh6z
https://dl.doubtnut.com/l/_bmCeykIAA41Q
https://dl.doubtnut.com/l/_QSH5lGtgLd1H
https://dl.doubtnut.com/l/_KIOtxZTbYxsq


43. How degree of dissociation is related with eqconductacne of week

electro-lytes ?

Watch Video Solution

44. What is the EMF of the cell when the cell reaction attains equilibrium

?

Watch Video Solution

45. What is the change in free energy for 

Galvanic cell

Watch Video Solution

46. What is the change in free energy for 

electrolytic cell

https://dl.doubtnut.com/l/_KIOtxZTbYxsq
https://dl.doubtnut.com/l/_bz7b6DD5hsP0
https://dl.doubtnut.com/l/_kBnHa8EtSes5
https://dl.doubtnut.com/l/_VOV808Yyp8TU


Watch Video Solution

47. How many Faraday will be required for the oxidation of 1 mole of

water ?

Watch Video Solution

48. Calculate the total charge in a mole of electron.

Watch Video Solution

49. What is the charge in Coulombs on  ion?

Watch Video Solution

CO2 −
3

50. State KohIrausch’s law.

Watch Video Solution

https://dl.doubtnut.com/l/_VOV808Yyp8TU
https://dl.doubtnut.com/l/_ywfpLzJbQWXF
https://dl.doubtnut.com/l/_zraPaMLVwlA3
https://dl.doubtnut.com/l/_hfYsK2Ph5nql
https://dl.doubtnut.com/l/_YF3iqhTPMjRD


51. How does equivalent conductance change with temperature ?

Watch Video Solution

52. What is the basis on which anode or cathode is identified in a

chemical cell?

Watch Video Solution

53. What is the potential of a standard hydrogen electrode ?

Watch Video Solution

54. What is the unit of molar conductance ?

Watch Video Solution

https://dl.doubtnut.com/l/_YF3iqhTPMjRD
https://dl.doubtnut.com/l/_sYenYVEBmarb
https://dl.doubtnut.com/l/_1NG08ctyowAx
https://dl.doubtnut.com/l/_1bj79LxXchr8
https://dl.doubtnut.com/l/_9PKWTqSDkNEA
https://dl.doubtnut.com/l/_shirjhMpkNJL


55. Between  and  which librates hydrogen from dil.  ?

Watch Video Solution

Zn Cu H2SO4

56. Write Nernst equation.

Watch Video Solution

57. What is cell constant and write its unit.

Watch Video Solution

58. Give the relationship between chemical equivalent and

electrochemical equivalent of an element?

Watch Video Solution

https://dl.doubtnut.com/l/_shirjhMpkNJL
https://dl.doubtnut.com/l/_3haptbow5I95
https://dl.doubtnut.com/l/_JsOhIrdlMS1C
https://dl.doubtnut.com/l/_TjVmP3ySyBlz


59. Copper sulphate solution can be stored in a zinc vessel.

Watch Video Solution

60. Write the Nernst equation for electrode reaction. 

Watch Video Solution

M n+ (aq) + ne− → M(s)

61. In an electrochemical cell, reduction taken place at

Watch Video Solution

………………….

62. In a cell  the standard electrode

potentials are :  , 

.What is the emf of the cell ?

Zn∣∣Zn+ + (eq)∣∣∣∣Cu+ 2(eq)∣∣Cu

Cu+ + + 2e → Cu, E ∘ = 0.34V

Zn+ + + 2e → Zn, E ∘ = − 0.76V

https://dl.doubtnut.com/l/_YKaizKdQNcoh
https://dl.doubtnut.com/l/_rIZZp5ds0ZN8
https://dl.doubtnut.com/l/_l1p3rkWg6rpB
https://dl.doubtnut.com/l/_fy77YwMhsa30


Watch Video Solution

63. What is the unit of equivalent conductance ? How does the equivalent

conductance vary with dilution?

Watch Video Solution

64. How many moles of aluminium can be produced by the electrolysis of

molten alumina with current of three Faraday ?

Watch Video Solution

65. What is the charge in Coulombs on  ion?

Watch Video Solution

CO2 −
3

https://dl.doubtnut.com/l/_fy77YwMhsa30
https://dl.doubtnut.com/l/_EBvbRaBgn7C2
https://dl.doubtnut.com/l/_0lNtCDipyTqv
https://dl.doubtnut.com/l/_Q6iFbqqVo6SE


66. What is the relation between standard emf of a cell and equilibrium

constant?

Watch Video Solution

67. How many moles of  will be liberated when 2 faradays of electricity

is passed through 0.1M `H_2SO_4 solution?

Watch Video Solution

H2

68. Write the equation that give the equivalent conductance at infinite

dilution.

Watch Video Solution

69. How many moles of hydrogen will be librated if 1.5 Faraday of

electricity is passed through dil .H2SO4

https://dl.doubtnut.com/l/_cNK2rBI7Gjjo
https://dl.doubtnut.com/l/_eOSpRIcwlCbL
https://dl.doubtnut.com/l/_ppp29lxB384r
https://dl.doubtnut.com/l/_LGEmiarHubie


Watch Video Solution

70. What product is obtained at the cathode during electrolysis of fused

sodium hydride ?

Watch Video Solution

71. What happens to conductance of an electrolyte on dilution ?

Watch Video Solution

72. If a spoon to be electroplated with silver , would it be made as

cathode or anode in the cell?

Watch Video Solution

73. What do you meant by strong electrolyte?

W h Vid S l i

https://dl.doubtnut.com/l/_LGEmiarHubie
https://dl.doubtnut.com/l/_n3ky9VfcgREg
https://dl.doubtnut.com/l/_zIXDABC5aZ57
https://dl.doubtnut.com/l/_ARPQ1RVYZijD
https://dl.doubtnut.com/l/_2KjNE7uKyVu7


Watch Video Solution

74. Why fused electrolytes do conduct electricity ?

Watch Video Solution

75. What is the function of a salt bridge?

Watch Video Solution

76. Fill in the blanks : The standard reduction potentials of  and 

are  and  respectively. The emf of the cell formed by

combining the two electrodes will be ………….

Watch Video Solution

Cu Zn

0.34V −0.76V

77. Fill in the blanks : Zinc displaces silver from silver nitrate solution

because its standard oxidation potential is …………….. Positive than that of

https://dl.doubtnut.com/l/_2KjNE7uKyVu7
https://dl.doubtnut.com/l/_ZUYn3QyQbhIc
https://dl.doubtnut.com/l/_li6To9Syazgx
https://dl.doubtnut.com/l/_VR1E6trMrbAs
https://dl.doubtnut.com/l/_0ablks0txwKU


silver.

Watch Video Solution

78. Fill in the blanks : In a galvanic cell electrons flows from ………. To …………….

While current flows from ………….to …………… .

Watch Video Solution

79. Fill in the blanks : If emf of a cell is positive than the cell reaction is

………….. .

Watch Video Solution

80. The best electronic conductor is _______.

Watch Video Solution

https://dl.doubtnut.com/l/_0ablks0txwKU
https://dl.doubtnut.com/l/_nQ74PDCoMsVK
https://dl.doubtnut.com/l/_V6tJdT2gnZYq
https://dl.doubtnut.com/l/_ICRGhCb7Haq6


81. Fill in the blanks : Two solutions are connected in series, when same

amount of electricity is passed through the solutions, the masses of the

substance librated at the electrodes are proportional to their ………….. .

Watch Video Solution

82. Fill in the blanks : What is the amount of the substance deposited

when one ampere for one second is passed through an electrolytic cell ?

Watch Video Solution

83. Find the number of electrons present in 1 coulomb charge?

Watch Video Solution

84. Fill in the blanks : At infinite dilution the equivalent conductances of

the cations and the anions are …………. Of each other.

https://dl.doubtnut.com/l/_kbaE3fRKPoQk
https://dl.doubtnut.com/l/_4d8SxUlp5olT
https://dl.doubtnut.com/l/_2NgfLULwNvVh
https://dl.doubtnut.com/l/_suX70Btncgv2


Watch Video Solution

85. Electrochemical equivalents of two metals are in the ratio of their

 .

Watch Video Solution

……………..

86. Fill in the blanks : The electrode potential of a standard hydrogen

electrode is ………………

Watch Video Solution

87. The more  the standard reduction potential, the

 is the ability to displace hydrogen from acids.

Watch Video Solution

……………..

……………..

https://dl.doubtnut.com/l/_suX70Btncgv2
https://dl.doubtnut.com/l/_IvjNxIazcHVV
https://dl.doubtnut.com/l/_x8xZi2dGQRHD
https://dl.doubtnut.com/l/_WQj1AwzHbNXe


88. Fill in the blanks : In a cell containing zinc electrode and normal

hydrogen electrode, zinc electrode acts as …………..

Watch Video Solution

89. Molten sodium chloride conducts electricity due to the presence of

A. free from molecule

B. free from electrons

C. free ions

D. sodium and chloride atoms.

Answer:

Watch Video Solution

……………….

https://dl.doubtnut.com/l/_j96rFOwPLWBr
https://dl.doubtnut.com/l/_ebfoLbfsF2wU


90. Fill in the blanks : In the galvanic cell , Zinc

electrode acts as ………… while copper electrode acts as …………..

Watch Video Solution

Zn∣∣Zn
2 + ∣∣Cu

2 + ∣ Cu

91. Fill in the blanks : The electric charge for the deposition of 1 gm

equivalent of a substance is ………….. .

Watch Video Solution

92. 96500 Coulomb will deposite  of metal.

Watch Video Solution

………………….

93. How does specific conductance vary with dilution?

Watch Video Solution

https://dl.doubtnut.com/l/_GUBaGLAjRMMm
https://dl.doubtnut.com/l/_OQCj2OQhpGA1
https://dl.doubtnut.com/l/_7xQcEXNvY4kT
https://dl.doubtnut.com/l/_xObV2S0gG7SR
https://dl.doubtnut.com/l/_s0uJW0AAUmk8


94. Fill in the blanks :  is related to the emf of the cell as ………………. .

Watch Video Solution

ΔG∘

95. Fill in the blanks : In an electrolyte current is carried by

A. atom

B. ion

C. electron

D. molecule

Answer:

Watch Video Solution

96. Fill in the blanks : The laws of electrolysis were enunciated by ………..

Watch Video Solution

https://dl.doubtnut.com/l/_s0uJW0AAUmk8
https://dl.doubtnut.com/l/_2g8irPw7796s
https://dl.doubtnut.com/l/_Zm4RDBmIeqHx


97. Fill in the blanks : Degree of dissociation …………… on dilution.

Watch Video Solution

98. In electrochemical cell  energy is converted to

 energy.

Watch Video Solution

……………..

……………..

99. Fill in the blanks : Solid  is …………. Conductor of electricity.

Watch Video Solution

NaCl

100. Fill in the blanks : Specific conductance = conductance xx ……………..

Watch Video Solution

https://dl.doubtnut.com/l/_9CG707hrXghI
https://dl.doubtnut.com/l/_NrMJdj5uPffR
https://dl.doubtnut.com/l/_OKstuoFUd0pJ
https://dl.doubtnut.com/l/_o71nGR4rvycC


101. Fill in the blanks : Molar conductance = specific conductance xx

………………

Watch Video Solution

102. Fill in the blanks : The current is carried through metallic conductor

by …………..

Watch Video Solution

103. Fill in the blanks : On decreasing the concentration of a solution the

molar conductivity ………….. Of a weak electrolyte.

Watch Video Solution

104. Is it safe to stir  solution with a copper spoon ? Given 

, .

1MAgNO3

E ∘

Ag + /Ag= 0.89v
E ∘ =

Cu2 + /Cu
0.34v

https://dl.doubtnut.com/l/_R02X9sXgzJTH
https://dl.doubtnut.com/l/_3kHu21CvZTQW
https://dl.doubtnut.com/l/_O5V9FENYZpzH
https://dl.doubtnut.com/l/_52GHP4I0f4VY


Watch Video Solution

105. Calculate the standard reduction potential of  electrode when

the cell potential for the cell  is .

Watch Video Solution

Ag+

Ag

Cu∣∣Cu
2 + (1M)∣∣∣∣Ag

+ (1M)∣∣Ag 0.46V

106. Why blue colour of  solution fades when an iron rod is

dipped into it ?

Watch Video Solution

CuSO4

107. Calculate the molar conductance of  at infinite dilution. Given 

, .

Watch Video Solution

MgCl2

λ
0

=
Mg + +

106.1ohm− 1cm2mol− 1 λ
0

=
Cl

76.3ohm− 1cm2mol− 1

https://dl.doubtnut.com/l/_52GHP4I0f4VY
https://dl.doubtnut.com/l/_MlKDItKdwKSk
https://dl.doubtnut.com/l/_G5Kfcx8QcEVj
https://dl.doubtnut.com/l/_XFrAfbVl6z0u


108. Write the elkectrolysed products of molten  and aqueous 

 solution.

Watch Video Solution

NaCl

NaCl

109. Calculate the standard electrode potential of , if the

electrode potential at  is 0.296V when the .

Watch Video Solution

Cu+ + ∣ Cu

25∘C [Cu+ + ] = 0.015M

110. Why is not possible to determine  for weak electrolyte by the

method of extrapolation ?

Watch Video Solution

∧∞

111. Write Nernst equation.

Watch Video Solution

https://dl.doubtnut.com/l/_vKNQRAU2648Q
https://dl.doubtnut.com/l/_5SNzgUK37vQ8
https://dl.doubtnut.com/l/_1bt9W7rU2qR1
https://dl.doubtnut.com/l/_gMuvuIwiEgkp


112. What is the effect of temperature on the molar conductivity ?

Watch Video Solution

113. For strong electrolytes, the values of molar conductivity at infinite

dilution are given below ,  and  , 

,  respectively. Calculate .

Watch Video Solution

BaCl2 NaCl NaOH 280 × 10− 4

126.5 × 10− 4 248 × 10− 4 Λ 0
Ba (OH ) 2

114. If the standard half cell and reduction potentials are  for 

 and 0.3402V for . Find the standard half cell

potential for .

Watch Video Solution

0.522V

Cu+ ∣ Cu Cu2 + ∣ Cu

Cu2 + ∣ Cu +

https://dl.doubtnut.com/l/_gMuvuIwiEgkp
https://dl.doubtnut.com/l/_hHVkh4gbnMQ5
https://dl.doubtnut.com/l/_OErvKYEcoQ68
https://dl.doubtnut.com/l/_JUxrdo8L8D9V


115. Calculate the equivalent conductivity of  solution if its

specific conductivity is .

Watch Video Solution

1MH2SO4

26 × 10− 2ohm− 1cm− 1

116. Give two applications of Kohlrausch Law.

Watch Video Solution

117. How many grams of aluminium can be produced by electrolysis of

molten alumina with a current of 3 amperes for 10 minutes ?

Watch Video Solution

118. Define a Galvanic cell. Give the diagramatic representation of a typical

galvanic cell with cell reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_Q1Vrxjhen8TH
https://dl.doubtnut.com/l/_HKGNV23Vvqaj
https://dl.doubtnut.com/l/_YzeV9g4OQ85d
https://dl.doubtnut.com/l/_yT4qSXsd2Znf


119. How many moles of aluminium can be prepared by the electrolysis of

molten alumina with a current of six Faradays.

Watch Video Solution

120. Equivalent mass of sodium is 23. Calculate the electrochemical

equivalent.

Watch Video Solution

121. Define molar conductance.

Watch Video Solution

122. Three faradays of electricity are passed through molten 

,aqueous solution of  and molten NaCl taken in different

Al2O3

CuSO4

https://dl.doubtnut.com/l/_yT4qSXsd2Znf
https://dl.doubtnut.com/l/_6NqagEzUpEAy
https://dl.doubtnut.com/l/_iktxW2DU2PAj
https://dl.doubtnut.com/l/_H1c5IifgTxU6
https://dl.doubtnut.com/l/_w5SP1rj2qAQm


electrolytic cells. Calculate the molar ratio of Al, Cu and Na deposit at the

cathodes .

Watch Video Solution

123. Represent the cell and calculate the Standard e.m.f. of the cell having

following cell reaction:

and  volt

Watch Video Solution

2Cr(s) + 3Cd2 + (aq) → 2Cr3 + (aq) + 3Cd(s)E0Cr3 + /Cr = − 0.73vo <

E0Cd2 + /Cd = − 0.40

124. What is galvanic cell? Give an example.

Watch Video Solution

125. How many grams of aluminium can be produced by electrolysis of

molten alumina with a current of 3 amperes for 10 minutes ?

https://dl.doubtnut.com/l/_w5SP1rj2qAQm
https://dl.doubtnut.com/l/_gyLaHNgob2we
https://dl.doubtnut.com/l/_OqGBHUkvJvBV
https://dl.doubtnut.com/l/_7Xz14pXNAw8N


Watch Video Solution

126. When a current of strength 3 amperes is passed through silver

nitrate solution for 20 minutes 4 gms of silver metal is deposited. What is

the ECE of silver ?

Watch Video Solution

127. How many grams of chlorine can be produced by the electrolysis of

molten  with 10 amperes of current flowing for 10 minutes (mol wt

of )

Watch Video Solution

NaCl

Cl2 = 71

128. How many moles of copper will be deposited at the cathode by

passing 1.5 faraday of electricity through a  of  ? (At. Mass of

Cu =63.5).

Watch Video Solution

soln CuSO4

https://dl.doubtnut.com/l/_7Xz14pXNAw8N
https://dl.doubtnut.com/l/_1VBNe6imVVvb
https://dl.doubtnut.com/l/_rhEAlG5hD1mG
https://dl.doubtnut.com/l/_n9PIeqymNwps


Watch Video Solution

129. Why copper sulphate solution cannot be stirred by a nickel spatula ?

Watch Video Solution

130. Why copper sulphate solution can not be stored in an alluminium

vessel ?

Watch Video Solution

131. Distinguish between electrolyte and electrochemical cells.

Watch Video Solution

132. Derive Nernst equation for calculating emf of Galvanic cell.

Watch Video Solution

https://dl.doubtnut.com/l/_n9PIeqymNwps
https://dl.doubtnut.com/l/_YKBuVOYThhdt
https://dl.doubtnut.com/l/_fRtLEuHGu8Lr
https://dl.doubtnut.com/l/_LQIe7KHzC9cO
https://dl.doubtnut.com/l/_T43Va9kNEH6C


133. What are Electrochemical cells ? What would happen if no salt bridge

were used in electrochemical cell like Zn - Cu cell ? Write the Nernst

equation to calculate the emf of this cell.

Watch Video Solution

134. Discuss Daniel cell with cell reaction. Write the cell reaction.Write the

cell reaction and find the emf of the cell. at 

Given  and 

.

Watch Video Solution

Mg∣∣Mg2 + ∣∣∣∣Cu
2 + ∣∣Cu 25∘

E ∘Mg2 + ∣ Mg = − 2.37V (0.001M)0.0001M

E ∘Cu2 + /Cu = 0.34V

135. What is electrochemical series ? Write three of its applications.

Watch Video Solution

https://dl.doubtnut.com/l/_fR1VtSgaqzCM
https://dl.doubtnut.com/l/_YQbjQvZNJppE
https://dl.doubtnut.com/l/_PPZLhL7Pt97D


136. Define electrochemical equivalent and chemical equivalent. How are

they related with each other ? A current of 5 amperes is passed through

an electrolyte for 15 minutes when 3 gms of the metal was deposited.

Calculate the electrochemical equivalent of the metal.

Watch Video Solution

137. State and explain Faraday's laws of electrolysis. 0.2015g of copper

were deposited by a current of 0.25 A in 45 min. What is the ECE of the

copper?

Watch Video Solution

138. What amount of aluminium will be deposited by the electrolysis of

molten alumina with a current of 5 amperes passing for 12 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_QmuRsU963T0T
https://dl.doubtnut.com/l/_MoR3tDZXTQow
https://dl.doubtnut.com/l/_csWya2BFLUlV
https://dl.doubtnut.com/l/_ySsAjFjILn3T


139. State and explain Faraday 's laws of electrolysis. 

 of copper was deposited by a current of `0.25 amperes in 20

minutes.What is the electrochemical equivalent of copper.

Watch Video Solution

0.101gm

140. State and explain Faraday 's laws of electrolysis. 

How many grams of aluminium will be deposited by the electrolysis of

molten alumina with a current of  for 10 minutes ? (At mass of

 )

Watch Video Solution

6amperes

Al = 27

141. State and explain Faraday 's laws of electrolysis. 

A current of 6 amperes is passed through a solution of  for 20

minutes. 8 gm of silver is deposited. Find out the electrochemical

equivalent of silver.

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_ySsAjFjILn3T
https://dl.doubtnut.com/l/_rI7kfRb4LUYU
https://dl.doubtnut.com/l/_LYrRqozLSUeF


142. State and explain Faraday 's laws of electrolysis. 

How many grams of silver will be deposited by the electrolysis of silver

nitrate solution with a current of 5 amperes for 10 minutes.

Watch Video Solution

143. State and explain Faraday 's laws of electrolysis. 

When a current of 6 ampere strength is passed through  solution

for 10 minutes, 4 gms of silver is deposited. Find out the electrochemical

equivalent of silver.

Watch Video Solution

AgNO3

144. State and explain Faraday 's laws of electrolysis. 

A current of 5 amperes is passed through an electrolyte for 15 minutes

when 4 gms of the metal was deposited. Calculate the ECE of the metal.

Watch Video Solution

https://dl.doubtnut.com/l/_LYrRqozLSUeF
https://dl.doubtnut.com/l/_o5ZSElAkOy9I
https://dl.doubtnut.com/l/_VyrJdHD2xMkD
https://dl.doubtnut.com/l/_cZOvVsHz6goh


145. State and explain Faraday 's laws of electrolysis. 

A current of 20 amperes is passed through  solution for 1 hr. How

many grams of copper will be deposited ?

Watch Video Solution

CuSO4

146. How many grams of aluminium can be produced by electrolysis of

molten alumina with a current of 3 amperes for 10 minutes ?

Watch Video Solution

147. 20 ampere current is flowing through  solution for 60

minutes. Find the amonut of cupper deposited. (At .wt. of Cu = 63.5)

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_cZOvVsHz6goh
https://dl.doubtnut.com/l/_qC7TWgPBSEMZ
https://dl.doubtnut.com/l/_NkQIx4xqvPrp
https://dl.doubtnut.com/l/_VwnT1bidLhAP


148. State and explain Faraday's law of electrolysis. 0.2964g of copper was

deposited on passing a current of 0.5 ampere for 30 minutes through

copper sulphate solution. What is the atomic mass of copper ?

Watch Video Solution

149. State and explain Faradays laws of electrolysis ?

A solution of  is electrolysed between platinum electrodes

using a current of 5,0 ampere for 30 minutes . Calculate the mass of

nickel produced at the cathode at mass of )

Watch Video Solution

Ni(NO3)2

Ni = 58.7

150. State and explain Faraday 's laws of electricity. What current strength

in amperes will be required to liberate 10 gm of iodine from  solution

in one hour. (equivalent mass of iodine = 127)

Watch Video Solution

KI

https://dl.doubtnut.com/l/_Qdp1oHThE8im
https://dl.doubtnut.com/l/_Rd8goEUmbMIo
https://dl.doubtnut.com/l/_7R5LFDwR0zxz


151. Define specific conductance and equivalent conductance. Establish a

relation between them.

Watch Video Solution

152. State and explain Faraday laws of electrolysis. What is electro

chemical series. How much of electricity in ampere is required to librate

oxygen gas at the rate of 1 ml per second.

Watch Video Solution

153. State and explain Faraday's laws of electrolysis. How many grams of

chlorine will be produced by the electrolysis of molten sodium chloride

with a current of 5.5 A for 25 min?

Watch Video Solution

https://dl.doubtnut.com/l/_tzhLWEFhmiRQ
https://dl.doubtnut.com/l/_z7L0189elguq
https://dl.doubtnut.com/l/_xAnldVBUGGN1


154. Define equivalent and molar conductance. Give their relationship

with specific conductance. How does equivalent conductance vary with

increase in temperature? 

How many atoms of calcium will be deposited from fused  by a

current of 25 mA passes for 60 sec?

Watch Video Solution

CaCl2

155. A  solution of  has a specific conductance of 

. Calculate the equivalent conductance of the

solution.

Watch Video Solution

0.1N NaCl

0.00112ohm− 1cm− 1

156. The specific conductance of solution of  is .

Determine its equivalent conductance.

Watch Video Solution

0.12N 0.024mho− 1cm− 1

https://dl.doubtnut.com/l/_13u458sFOPFM
https://dl.doubtnut.com/l/_hr9QJnd4Q51e
https://dl.doubtnut.com/l/_rhUa353GBp1G


157. A  solution of  has a specific conductance of 

. Find its equivalent conductance.

Watch Video Solution

0.1N NaCl

0.0001119ohm− 1. cm− 1

158. State and explain Kohlrausch's law. How can this law be used to find

equivalent conductance of acetic acid at infinite dilution?

Watch Video Solution

159. Equivalent conductance at infinite dilution of , NaOH and

NaCl are 129.8, 217.4 and 108.45 mho  gm equivalent-'

respectively.Calculate the equivalent conductance of  at infinite

dilution.

Watch Video Solution

NH4CI

cm2

HN4OH

https://dl.doubtnut.com/l/_Lv5uue4As9cB
https://dl.doubtnut.com/l/_QOXC8PnXCAgK
https://dl.doubtnut.com/l/_O5gcuaWDWYSO


160. Derive Nerst equation for EMF of the following cell.

Watch Video Solution

Zn(s) + Cu2 + (aq) → Zn2 + (aq) + Cu(s)

161. Calculate the EMF of the following cell.

 = -0.4 V

and 

Watch Video Solution

Cd∣∣Cd
2 + (0.04m)∣∣∣∣N 2

i + ∣∣(2.0m) ∣ Ni(GivenE ∘ cd2 + ∣ cd

E ∘ ∣∣Ni2 + ∣∣Ni = − 0.25V )

https://dl.doubtnut.com/l/_BI2DnuZsRQGw
https://dl.doubtnut.com/l/_UtP34EAW3lGg

